1.5

1.0

0.5-

y (m)

—0.51

—1.0 1

—1.51

1.5

1.0

0.51

y (m)

—0.5"

_1_0_

—1.5-

100 1

80 1

pixels

40 -

20 -

120

100 -

80 -

pixels

40 -

20 -

Run 16878, integration on 12 samples

HG pedestal [ADC]

0.0 -

EngineeringCameraFrame

1 0 1
x (m)

HG pedestal std [ADC]

0.0 -

EngineeringCameraFrame

-10 -05 00 05 1.0

X (m)

34

32

30

28

26

24

22

60 -

B HG Median -1.35, std 2.89

—10 -5 0
HG pedestal

60 -

B LG Median -1.46, std 2.44

O_
-10.0 -7.5 -5.0 -2.5 0.0

LG pedestal

2.5

5.0

1.5

1.0

0.5-

y (m)

—0.51

—1.0 1

—1.51

1.5

1.0

0.51

y (m)

—0.5"

_1_0_

—1.5-

120 -

100 -

80 -

pixels

60 -

40 -

20 -

100 -

pixels

LG pedestal [ADC]

0.0 -

. & .
P e
e 3 o.. 0‘ '

% .' :. t.’ ... e .u
o o4 3 %, 20, 33 ¢ i“"
[N PP 3o ' o

f} o L ... S Be ®

}. % ] .o..%o.
¢ . ;..’ *e ‘...o.

* e S e .

EngineeringCameraFrame

1 0 1
x (m)

LG pedestal std [ADC]

0.0 -

EngineeringCameraFrame

-10 -05 00 05 1.0

x (m)

28

26

- 24

22

20

18

16

B Median 25.51, std 2.24

22,5 25.0 27.5 30.0 325 35.0

HG pedestal std

17.5

20.0
LG pedestal std

22,5 25.0

B Median 19.67, std 2.15

27.5



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 16878, pixel 0

—— event 1001, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

—— event 1001, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

— event 1002, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

200

600

0 10 20 30 40

time sample [ns]

— event 1002, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

—— event 1003, HG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0 10 20 30 40

time sample [ns]

—— event 1004, HG: RO

baseline correction
+ dt corr + corrected spikes
---- offset
0 10 20 30 40

time sample [ns]

200

600

550 1

counts [ADC]

w N I Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

550 1

w & -b (9}
0 o U1 o
o o o o

counts [ADC]

w
o
o

250 1

200

0 10 20 30 40

time sample [ns]

—— event 1003, LG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0 10 20 30 40

time sample [ns]

—— event 1004, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]




600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 16878, pixel 0

—— event 1005, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

—— event 1005, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

—— event 1006, HG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0 10 20 30 40

time sample [ns]

—— event 1007, HG: RO

baseline correction
+ dt corr + corrected spikes
---- oOffset
0 10 20 30 40

time sample [ns]

—— event 1008, HG: RO

baseline correction
+ dt corr + corrected spikes
---- offset
0 10 20 30 40

time sample [ns]

200

600

550 1

counts [ADC]
w TN I Ul
Ul o Ul o
o o o o

W
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o Ul o
o o o o

w
o
o

250 1

200

600

550 1

500 1
O 1
= 450

v 400 -

300 -

250 1

200

0

10 20 30 40

time sample [ns]

—— event 1006, LG: RO

baseline correction
+ dt corr + corrected spikes
---- offset
0 10 20 30 40

time sample [ns]

—— event 1007, LG: RO

baseline correction
+ dt corr + corrected spikes

---- oOffset

0

10 20 30 40

time sample [ns]

O 350

—— event 1008, LG: RO

baseline correction
+ dt corr + corrected spikes

---- offset

0

10 20 30 40

time sample [ns]




